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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ › ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 

 

1. ½ÛÛÁõ©Û¾ÛÛ× ›÷¶¾ÛþùÁõ …¶Ûé ¾Ûè©ýÛäþùÁõ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ˜Û˜ÛÛë.  14 

  …¬ÛÈÛÛ  

 ÍÛ¾Û›ÛÈÛÛé ƒ 

 (1) ¸Ûó›÷¶Û¶Û þùÁõ  

 (2) ÍÛÛ“ÛÁõ©ÛÛ þùÁõ  

 (3) ¼ÛÛÇ ¾Ûè©ýÛäþùÁõ  

 

2. …Å¸ÛÜÈÛïõÜÍÛ©Û …¬ÛÙ©Û×ªÛ¶ÛÛé …¬ÛÙ …Û¸Ûà, ½ÛÛÁõ©ÛàýÛ …¬ÛÙ©Û×ªÛ¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ˜Û˜ÛÛë.  14 

              …¬ÛÈÛÛ  

 ½ÛÛÁõ©Û¾ÛÛ× ºäõ•ÛÛÈÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé þùÉÛÛÙÈÛà, ºäõ•ÛÛÈÛÛ¶Ûé Ü¶ÛýÛ×ÜªÛ©Û ïõÁõÈÛÛ¶ÛÛ× Š¸ÛÛýÛÛé ˜Û˜ÛÛë.  

 

3. ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ÜÍ¬ÛÁõ ½ÛÛÈÛé …¶Ûé ˜ÛÛÅÛä ½ÛÛÈÛé …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ¶ÛÛ ÈÛÅÛ¨ÛÛé 
þùÉÛÛÙÈÛÛé.    14 

…¬ÛÈÛÛ 

 ½ÛÛÁõ©Û¶Ûà ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ (GDP)¾ÛÛ× ïèõÜÌÛ, Š²Ûé•Û …¶Ûé ÍÛéÈÛÛ ÜÈÛ½ÛÛ•Û¶Ûä× ýÛÛé•ÛþùÛ¶Û ˜Û˜ÛÛë.  

 

4. (A) ½ÛÛÁõ©Û¾ÛÛ× ”Ûé©Ûà “ÛéªÛé ¶Ûà˜Ûà Š©¸ÛÛþùïõ©ÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé ˜Û˜ÛÛë. 14 

 (B) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛ –Û¤øïõÛé ˜Û˜ÛÛë.  

    …¬ÛÈÛÛ 

 (A) ”Ûé©Û Š©¸ÛÛþù¶Û ÈÛµÛÛÁõÈÛÛ ¾ÛÛ¤éø¶ÛÛ ¤éøïÕõ¶ÛÛéÅÛÛéœ÷ïõÅÛ …¶Ûé ÍÛ×Í¬ÛÛïõàýÛõ ¸ÛÜÁõ¼ÛÇÛé.  

 (B) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛ ÅÛÛ½ÛÛé. 
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5. (A) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ¶Ûà˜Ûé¶Ûà ”ÛÛÅÛà ›÷•ýÛÛ…Ûé ¸ÛæÁõÛé : 7 

  (1) ½ÛÛÁõ©Û¾ÛÛ× _____ ÈÛÌÛÙ¶ÛÛ …×©ÛÁéõ ÈÛÍ©Ûà •Û¨Û©ÛÁõà ¬ÛÛýÛ ™öé.  
   (a) þùÍÛ (b) ÍÛÛ©Û 
   (c) ¸ÛÛ×̃ Û (d) ¸Û×þùÁõ 
  (2) ÁõÛÌ¤ÖøàýÛ ›÷¶Û½Û×¦øÛéÇ¶Ûà Í¬ÛÛ¸Û¶ÛÛ _____ ÈÛÌÛÙ¾ÛÛ× ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà Ðü©Ûà.  
   (a) 2005 (b) 2001 

   (c) 2003 (d) 2004 

  (3) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶ÛÛ ¸Ûó̈ Ûé©ÛÛ _____ Ðü©ÛÛ.  
   (a) ¦øÛñ. …é¦ø¾Û×¦ø ¹ÅÛÛéÁéõ¶ÍÛ  (b) ÁõÛ¾Û¶ÛÛ¬Û¶Û 
   (c) ¶ÛÛé¾ÛÙ¶Û ¼ÛÛéÁõÅÛÛñ•Û (d) …¾ÛàÁõ ”ÛäÍÛÁõÛé  
  (4) ”ÛÛ¶Û•ÛàïõÁõ¨Û _____ ¾ÛÛ•Ûë ¬ÛÛýÛ ™öé.  

   (a) ¼Ûé (b) ¸ÛÛ×̃ Û 
   (c) ˜ÛÛÁõ (d) ªÛ¨Û 
  (5) ½ÛÛÁõ©Û¾ÛÛ× •ÛóÛ¾Ûà¨Û ÜÈÛÍ©ÛÛÁõÛé¾ÛÛ× ›ÛéÈÛÛ ¾ÛÇ©Ûà ¼ÛéïõÛÁõà¶ÛÛ _____ ¸ÛóïõÛÁõÛé ™öé.  
   (a) ªÛ¨Û (b) ˜ÛÛÁõ  
   (c) ¼Ûé (d) ¸ÛÛ×̃ Û  
  (6) ºäõ•ÛÛÈÛÛ¾ÛÛ× ¶ÛÛ¨ÛÛ×¶Ûä× ¸Ûó¾ÛÛ¨Û _____ ™öé.  

   (a) ÍÛ¸Ûó¾ÛÛ¨Û ÁõÐéü  (b) ÈÛµÛé  

   (c) –Û¤éø (d) ÜÍ¬ÛÁõ ÁõÐéü  
  (7) IADP …é¤øÅÛé _____. 

   (a) ÍÛ–Û¶Û ”Ûé©Ûà¶ÛÛé ïõÛýÛÙ’õ¾Û 
   (b) ÍÛ–Û¶Û ÜÉÛ“Û¨Û¶ÛÛé ïõÛýÛÙ’õ¾Û 
   (c) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ”Ûé©Ûà ÜÈÛïõÛÍÛ¶ÛÛé ïõÛýÛÙ’õ¾Û  
   (d) ½ÛÛÁõ©ÛàýÛ ”Ûé©Ûà ÜÈÛïõÛÍÛ¶ÛÛé ïõÛýÛÙ’õ¾Û  
 

 (B) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ× ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé : 7  

  (1) 2011¶Ûà ÈÛÍ©Ûà •Û¨Û©ÛÁõà ¾Ûä›÷¼Û •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¶Ûà ÈÛÍ©Ûà 4.99% Ðü©Ûà.  
   (2) ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ = ïõÛ˜Ûà …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ + ÜÈÛþéùÉÛ¾ÛÛ×¬Ûà ¸ÛóÛ¸©Û ¬Û©Ûà ˜ÛÛé””Ûà ÍÛÛµÛ¶Û 

…ÛÈÛïõ  
   (3) Ü³ù©ÛàýÛ “ÛéªÛ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¾Ûé¶ýÛäºéõî˜ÛÁõá•Û “ÛéªÛ¾ÛÛ× ¬ÛÛýÛ ™öé.  

   (4) …Û¡öÛþùà ¸ÛÐéüÅÛÛ× ½ÛÛÁõ©ÛàýÛ …¬ÛÙ©Û×ªÛ ”Ûé©Ûà¸ÛóµÛÛ¶Û Ðü©Ûä×. 
   (5) …ÛÈÛïõ¶Ûà ÍÛ×̧ Ûæ̈ ÛÙ ÍÛ¾ÛÛ¶Û©ÛÛ ÉÛîýÛ ¼Û¶Ûà ÉÛïéõ ™öé.  

   (6) ”ÛÛ¶Û•ÛàïõÁõ¨Û …é¤øÅÛé Ü¦øÍÛˆ¶ÈÛéÍ¤ø¾Ûé¶¤ø  
   (7) ½ÛÛÁõ©Û¾ÛÛ× ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶Ûà ÉÛÄõ…Û©Û 1966-67 ¬Ûà ¬Ûˆ Ðü©Ûà.  

_____________ 

  



14F-118 3 P.T.O.  

Seat No. :  _______________ 
  

14F-118 
May-2015 

B.A., Sem.-II 

(EC-II) 112 : Economics 

 (Indian Economy-2) 

Time :  3 Hours]  [Max. Marks : 70 

 

Instruction :  All questions carry equal marks. 

 

1. Discuss the factors affecting the birth rate and death rate in India. 14 

  OR 

 Explain : 

 (1) Fertility Rate 

 (2) Literacy Rate 

 (3) Infant Morality Rate 

 

2. Discuss the characteristics of Indian Economy by giving the meaning of 

underdeveloped economy. 14 

OR 

 State the causes of inflation in India and discuss the remedies to control the inflation. 

 

3. State the trend of domestic products at fixed price and current price by explaining the 

meaning of Gross Domestic Product. 14  

OR 

 Discuss the contribution of agriculture, industry and service sector in Gross Domestic 

Product of India. 

 

4. (A) Discuss the causes of low productivity in the field of agriculture in India. 14 

 (B) Discuss the components of Green Revolution.  

OR 

 (A) Technical and Institutional factors to increase the agricultural production. 

 (B) Benefit of  Green Revolution.  
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5. (A) Fill in the blanks by selecting the proper alternative : 7 

  (1) Population survey is done at every _____ years in India. 

   (a) ten (b) seven 

   (c) five (d) fifteen 

  (2) National Public Fund was established in the year _____. 

   (a) 2005 (b) 2001 

   (c) 2003 (d) 2004 

  (3) _____ was the pioneer of Green Revolution. 

   (a) Dr. Edmond Florence (b) Ramnathan 

   (c) Norman Borlaug (d) Amir Khusro 

  (4) Privatization is done in _____ ways.  

   (a) two (b) five 

   (c) four (d) three 

  (5) _____ types of unemployment are seen in rural area of India. 

   (a) Three (b) Four 

   (c) Two (d) Five 

  (6) Value of money _____ in inflation. 

   (a) remains proportionate (b) increases 

   (c) decreases (d) remains stable 

  (7) IADP means _____. 

   (a) Intensive Agriculture District Programme 

   (b) Intensive Education Programme 

   (c) International Agriculture Development Programme 

   (d) Indian Agriculture Development Programme 

 

 (B) State the following statements are true or false : 7  

  (1) Population of Gujarat was 4.99% according to cencus of 2011. 

   (2) Gross Domestic Product = Raw Domestic Product + Net Instrumental 

Income received from foreign countries. 

   (3) Secondary sector is included in manufacturing sector.  

   (4) Indian economy was based on agriculture before independence. 

   (5) Complete equality of Income can be possible. 

   (6) Privatization means disinvestment. 

   (7) Green Revolution began in 1966-67 in India. 

_____________ 


